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1. Overall Description:
SA3 has noted that:

· RAN Plenary has agreed the Narrowband IoT work item.

· SA2 have agreed some conclusions in the FS_AE_CIoT study item (communicated to SA3 LS in S2-153695, with TR 23.720 v1.1.0 )
· we anticipate that SA2 will agree a work item for normative NB-IoT work at its meeting of 16-20 November 2015.
SA3 can see that some security work will be required to support this activity. SA3 proposes to carry out this work under the anticipated new SA2 work item, rather than starting a separate work item specifically for the security aspects.
Objectives envisaged for this work are to design any necessary security enhancements:

· for solution 2 in TR 23.720 (Infrequent small data transmission using pre-established NAS security), e.g. determining whether new key derivations and security associations are needed to support independent NASCOUNT streams for data and signalling, and if so then specifying them;
· for solution 18 in TR 23.720 (User plane based solution with AS information stored in RAN), determining whether new key derivations and security associations are needed, and if so then specifying them; in particular specifying any necessary details for user plane integrity.
SA3 considers in particular that liaison between SA2 and SA3 will be needed for the collective work of those groups on NB-IoT to be successful.

2. Actions:

To SA2 and CT1 groups.

ACTION: 
SA3 asks SA2 and CT1 groups to take the above into account. 
3. Date of Next SA3 Meetings:

SA3#82
1-5 February 2016
Dubrovnik (Croatia)
SA3#83
9-13 May 2016
US

�To be removed before LS is sent


�Update source to SA3


�Any other groups?


�Update if any interim meetings are scheduled, or if the location of SA3#83 is determined





